Problem set 7

L bethe set of functions +:34,2,.,n—»S0,13.
For insbonce, T, =S8 4§ whee F 1313 30,18 , R t)=o
and %:%:L%_p§o,i% , By =1
Let ©:F —» P(31,2,-,n%),
6@y =3kez| 4cksn, Fl=1%,
ad Y P(54,2,..,n8) —» T,

YWA) = 1 (the characberistic Puncbin
A of A as a subset of

34, ”g ' C—?or its definchion
look ot the Pprevivus Trablem
set-))

@) Find O®) cohere +:31,2,3,4,5%—>%0,13,
f=1, Pey=o, F3)=0, f&) =1, f©E)=0.
QJ) r‘DFD\IE, ‘Hw\'t z“!og = I.l__ —ear anué Nne Z+.

©) Prove  that S = 1 Por ana neZ:r.

(P(El;,n@
(Rewark . @) and €) Show thit U ond 6 are -1 and
oo . So E and CP(E{, -hg) hove the same number

of clemcrrfs.)



2 . Let -P:X—)\( ) 3:\(—)2 be two Punctions .
Prove that, # * ond g are t‘njec['fve, , “then go-P
i ina'ec‘h‘ve-

3. Let -P:X——)Y, %Y—?Z be o Punctions.
Prove that, # £ and g are Sura‘ecl:fve , then 8:[—’

S Sura'edt e -

4 @) Toe thit (3;\2 fngech‘ve = frg"ed'\‘ve).
G)Pove or dn‘syro\e Ca;P t‘na‘ecl:fve = 9 lha‘er:[n‘ve )

5.@) Prove that (80-‘3 Suraéc‘[:fve. =) 3 Swa'ec'l-\\zc )
QD) ?mve or AI'SI?YD\IQ ( 8,—‘2 Sura’ec'l;'n‘\/e = -E Sura‘e,cl:fve) .

Added €XOW¥\>|e for fFr‘oHcm 1.

Let n=2. Then F =3 91:9, 9" 943 cohere

Q1 2i—vledg, gi=1, =1

37_:11,& — §0,1%, 32(1_)=i, 32(2)=o
1



by i es ey o -

3,12y —» 304k, ghmo , G=o -

S 8:19,9,9,9,% — L 18144325, 34,28 3,
8C9,) = $keuagy| g =18 =31,22
00 =13
(=123
Ol =33%-



